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— 2792 9BR KD 773 SWHN 9K YBaon Xo7 NPWan
“It is “wan, it should be %v3, I do not want it”’; nothing
meaningful was said

OVERVIEW

In 'mn> noon the X3 quotes ¥°p» w* who maintains that if a person
received a gift and said 72 "waK °X the 7°7 is that it 1s 7p57 and whoever wants
can acquire it. The X313 there quotes the X771 of NWW 27 in contradiction to
the opinion of 5"9. However, the X773 in Mn™> quotes " in the opposite
manner of how he is quoted here. In mn7> the X3 quotes W' as saying:
'D73 AR R 7INM OPR X7 902 2°7R°°P 1°727 72 OWOK X 820N X0 nhvan'. The
X 3 there continues to explain the contradiction between %" and w"9 by
interpreting the phrase of w"9 that '@>p 1727 72 *WoXR *X' to mean that the
gift reverts to the original owner, as opposed to "7 who maintains that it
becomes a7 MdOIN will offer three explanations to resolve this difficulty.

mooIn has a difficulty with the reading of our text:
— NION 12°09) (x,75 97 INI2T RIN2 PI92T NN
It is astounding! For in the last P92 of nwn>1> the text reads the opposite

of how it is read here. In n1n°7> the text reads:
-0195 9N NY NaNN NN NN NHLA D 19927 N FYWAN N YV NN NYVIAN

If the recipient of the gift said "7 "W 8 Hv2°n X7 n4wIan' then his words
are substantiated and the gift is Y02. However if he said X7 77%v2 or 719K

7anm then it is as if he said nothing and the 71n» is valid. This is the exact opposite
of the way it is written here that '2175 MR X% 172 "WoKR °X Hv2°n X°77 NHv1AR, but if he said
"R 1727 TINN PR RO o032

mMooIN anticipates a possible solution and rejects it:
— NN DNN 99910 TWIN ON)
And it is impossible to change the text there that it be like the text here’.

Perhaps there was a mistake in the text there, and really it should read as the text here
reads.

'R, 73 mnmo.

* mooin did not entertain that perhaps the text here is incorrect. Here we have a contradiction between the

Xn»12 that states 7°7°°p 1127 X173 203, which indicates that vawn 902°97 X1w°2 Hva and the X which states

1P 127 X°7 72032 which indicates that yawn Rpoyn P03, We (seemingly) cannot change the X071 of the
1
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mooIn rejects this possibility:
— WPY WX NN T OnnT
For there in mn»™> 'on the X723 asks from this X721 of NWw 27 on %"=,
Moo now refers to the X773 in M -
— N5t NA OMHPN Y NASWAN AN NYN 99N 19aNY NINN 1IN 9INT
Where "1 said: someone who gives a gift to his friend and the recipient
said I have no desire for it; the "7 is whoever takes it first, acquires it. The

article is 7797 until someone is 7237 it. This statement of %" contradicts the statement of
this X711, where it says —

— N9 NN 099D 19927 IND NI D1399P 19937 NA SWOAN INT 9INRP NVYY 29)
And nww 29 states that when the recipient says 173 >wsR >R his words are
substantiated. The X713 continues; ‘does not the phrase 2P 19927 mean;

and the gift reverts back to the original owner’. This is in contradiction to "
who states that when the recipient says 712 *WoX X, it does not revert to the original owner,
but rather (the recipient acquires it and in turn) makes it 797. This concludes the quote
from the X73. It seems quite clearly that the 17 of 72 *waK °X according to NWW 17 is that
o' 127, exactly the opposite from the way it is read in our X3 that X XY 72 >WoK X
oo,

mooin offers a possible answer:
— 09299 19927 N3NN NN NN NHVA N IYAN IN NN ONN DIINT D909 1111
However according to some of the texts there (in NMn>12) and here where
it reads as follows: 712 SwWoR K together with 73n% 798 K57 77903 in all these
cases (including 772 "o *X) 2M%p 1’#:7;4 according to this text —

— 99V 'NN
It comes out fine. Everything fits; here we pose the contradiction from the Xn>2
where %°71 901 is considered future tense, to the statement of w"1 that by X7 7702 we say

o»»p 027 indicating that it is past tense; and in MnN*1> we ask on " from 72 *WOHK X
which (according to this X03) is 2°»»p 727 and 727 7777,

R here and still have the 717°n0. (See however later in this m»0In.)
3 We cannot be 0™ there like here, that 0192 7R X7 172 *woK *X; for the X113 there clearly states there that the
question is based on the fact that nww 27 said 1»»p 1127 (by 72 >woR °X) which means 77n% 7777, and not
that it becomes Tpo77 like 7" states. Since by the phrase 712 *woR °X there in NN, we say PP P27, it
follows suit that the phrases 2v2°n X°77 nPw1an which are joined (here and there) with 712 *wok °X it is also
1P 1"127. The opposite of how it is written here in v .
* This X073 moves 712 *wox X from being the last case of the phrase where a3 7X X> and instead it is
inserted as the first case of the phrase o°»p 0727
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mooIn asks a question on this &0 of the Xn°» of nww 27. It now reads that 712 *wWoK X
2 »p 1127 which indicates that it is a 72y W2 and in the Xn*92 of VA7 71072 it states that
0°n™pP 1°127 72 "wok °X which indicates that it is a 70y 1W5.

- SnYr0aN AYPNY 10 NI SYIN IND NYPN XYT RN
And the reason the X713 did not pose the contradiction of 772 >WoR X just

as the X123 poses the contradiction of m>wa —

ND0IN answers:

— 9P9N PYD NNT DIVN 19N N2 SWAN YN D3P 199399 INNT IV VIVIY DIVN
for the X1 was certain that the reason 2%a%%? 19927 when he said SwsR N
12, is since "WOK *X is an expression of 9577, but not because *WoK *X means 12w
and 2°»™pP 1°727 means that it reverts to the original owner -

— WIPY WD MM N7
As the X123 answers in nInv> noon according to »''A. The x»3 there concludes
that there is no contradiction between "1 and w"; when nww 27 said that 1°727 72 SWOR X
an>p it did not mean that it reverts to the original owner, but rather that it becomes p27
for the recipient was 71? the 71n» and was °pon it by saying 72 “WwoK *X. Our X713 here

assumes that initially; the reason that 72 *wsX X by 7inn, we say 2P 127 is not
because *WOK X is a 72y WY, but rather it is a *7°nyY poa .

moon however is not satisfied with this explanation:
— 09990 2793 NN I XU M
However we do not find this text in most N2, Rather the case of 72 WX °X is

placed together with v2°n X7 nHv1an where in PY') we say 2170 1R X?; and in  non
mn 73 it says just the opposite that in these three cases o°n*p 1°727.

mooin offers a different explanation:
— MNGI9T XD NI AWM YIY 9N PNHY 13929)

> In the Xn™92 it says D°»™p 127 X7 902 since it is a TNy MY and MWW 27 says by 7Inm that 127 X7 71902
o°n»p that it is a 2y 5. The same question applies to 72 *woX °K, in the RN>*M2 it is a proper 2107 - NWH)
(7°ny, and w"1 says that 1m>p 1727 meaning that it is no 7inn - (F2y PWH.)

6 According to this Ro7% of: Pn**p 1°727 MInn A1R X7 7702 72 "WOR X, there is a difference, as to what 127
P means, between 772 WX X (that the 7inn becomes 7p577) and 7ann 71X X7 7902 (where it reverts to
the original owner).

7 There is no contradiction between the Xn12 and "1 concerning 772 *wdX *X. The Xn>*12, which states that
by v saying 0°»*p 17127 172 "WHR X because it is TNy NWY, is the same as W' saying 1°727 730132 72 "WHK X
o°n»p since it is a NV 7pon WY, The only contradiction is from X177 202 by v3 to X7 7702 by 7inn, because
7INna X7 77012 is not a pon M. It can only be »p va7 if it is a 72y PWYH, meaning that he never
intended to receive the 7inn.
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And the "' says we can correctly insert here in "0 'on, the text of 'on
NIN92. Our text can read as their text does; namely that 193 R R 7101 7K R°7 7902

Seemingly if we are 0172 2K X2 X771 7902 071 how do we infer that 7502 is a 2y NWS?
The understanding until now was that the 7301 can be 02 only if X7 %02 is a 72y W, for
then he is stating that he never accepted the mina. If X7 %01 is a 7ny NwY, then it is
meaningless for once he received the 7in» he cannot nullify it. However the >"7 is 0713
here that 0175 nR X? X°77 7902 and nonetheless the X 13 infers from this that 502 is a NW>
72v. This contradicts our previous assumption. N19010 will now explain that if we are 07
0175 MR R X7 171202 that proves that X317 702 is a "2y L.

— DY 9N NY NINN NN NN NHVA NPT YHIWN RIPIYN HVAT P11
And the X n3 infers that the term Yv2 means that it is initially 5v3; and not
that it should be 02, since it was taught that if the recipient said 87 7wa

or 7in» 1N it is meaningless, and the recipient owns the mnn, that proves that
X7 7902 is a RpPOYR PO -

— 15T NA PIINNN DI PN NI 192D 19937 19D )5 ONX NANY ¥NHYN YV INT
For if the term X7 7702 indicates the future tense, that the 7102 should be
bua, then his words should be enacted and the 71n» should be *ap5: and
whoever seizes it acquires it’ -

— PNNM Y3 HY 1IN NI 291 $HWN KIPIYNIT XNV YaN
However, now that we say that the term X°77 7702 means that initially the
gift is Sva it is understood why 2195 Tk X7, for it is as if one said

concerning any gift -
- NN JPRY JN2 NN 193NY )M OTINY

Which a person gives to his friend and the recipient acquires them, and

one would remark that they are not gifts; it would be a meaningless statement'°
— D193 9N K9 7991 192 o ) IN9T

For here too where he himself is the recipient, he acquire(s)[d] the gift,

and therefore his saying X7 7202 is a meaningless statement'?. Once a
person acquires a gift he cannot void the gift.

¥ Mmoo now disputes his previous assumption that the terms X°7 7902 or 7In» APX cannot effect a Pd:.
MooIn asserts in this interpretation that if X7 7202 would be a 7ny 1w the minn would indeed become po1.
The fact that 0725 7R X? indicates that it is a 72y W% therefore it surely cannot effect a 2po1.
? See “Thinking it over’ # 1.
' See “Thinking it over’ # 2.
" In w"x"7 MooIN the XOA is a7,
"2 mooin disputes s""w interpretation (as well as Moo original assumption) that if ®7 7ova is a W
(12yw?) X7pP°vnT there would be no 711nn; it would be considered that he admitted that he never accepted it.
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mooIN anticipates a question on the YVWw» of the *":

— YINP 12930177 NIV ¥HIYUN MNYY SNV 9INPT IND)
And concerning this what the X723 says that the term (57)?02 can have two
interpretations; past and future and the person intends to say the
expression that is effective -

— ANRP MINNA 19927 2NNT NY

We do not mean that his words are effective to be Y02n the nun; for on the
contrary we are saying that X7 7902 by 7107 is 2179 %K X?; how can we say that he is
saying TaRp 12 °177 RawH?!

— MINNN HLAN XYY I 2V VIN VLAY I DIV Y VN PYD 1N 2NNT NN
Rather with the expression TmRp 72 %3 »7 X2 we mean to say, the
expression that is beneficial for him; not that is effective; for it is
beneficial for him that the v should be »v2 and it is beneficial for him
that the ;1an» should not be %v2, but rather that it should belong to him.

mooIN has a question on this last assumption that *1717 X12°% does not mean the w5 that
will be effective, but rather °1m7 X1w°2 means the W% that is beneficial for him.
Therefore concerning "0 since we maintain that X371 502 is a valid 70°2 and the v3 is
nullified, we may infer from this that it is beneficial for the husband that she not be
divorced.

— (3,9 97 N8 N32) DIININD P9 YWD YIVUNT N

And that what the X712 seems to imply in the beginning of 2°12I8:77 P95 -
—9NY VIN IINNY NI HYaY NHIY IYUNT
That it is considered beneficial to the husband that the w» become

effective faster rather than it being postponed. This is in contradiction to our
understanding that it is beneficial for the husband that there be no v (and certainly not
that it should be effective sooner) -

moon will now show how from the X713 in 2°3X7 we infer that it is beneficial to the
husband that the v become effective faster.

— NO9N 995N N NYYA 13999N7
For the X3 there says the proof would be justified' if it was taught in
the reverse; namely -

3 The X3 there (and in 2,20 q7 L) is attempting to derive from a statement of a1 27 whether a person
speaking to someone’s agent completely trusts the words of an agent, or he is suspicious that the agent may
have altered the original charge of the principal, which may be detrimental to this person’s own interest.
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— NARY NN 7950 IR N1 9192 %9 XAN NN THUNY 1093 99 Yannn
A woman said to a 7°%v receive my v3; The 9w however told the %¥3,
‘your wife said ‘bring me my v3’’, and the husband said after hearing the

s'mhw statement: ‘take it the way she said’. If this would have been the case, and
concerning this case —

— 30 19157 NIPYR RAYR NYINN 11 D) $90Y 113 1N 29 NI
1'% would have said as soon as the uvx reached the s'm°>% hand she is
nw91an then we would be able to prove from s'1"7 statement that that he

relies on that which is beneficial for him."” We see from that X7 that it is
beneficial for the husband that the wife be divorced. This contradicts our explanation here
that it is beneficial for the husband that the v) be voided.

N1v0IN answers:
— NYMY 7YY 2YUN NYNT NIV INT ONN
There in »"2 where he wants to divorce her, it is certainly considered
beneficial for the husband that she become divorced immediately -
— B9 XYY 13991 1910222 XONY INYT NYINAY NI YaN
However, here in our X723 where his intention is known that the husband
desires the nullification of the v, his benefit is that the 7 1 take effect.

moon will now offer s""wA resolution of this apparent contradiction:
— PHYNYIA 120 0NN PPVIT (x,73 91 NINYII2 W9 /YD)
And >"w9 explained in nwnsa> noon that the text there in Mn 1> reads as

the text here in Pv3; that '01% MR X% 72 "woX X' and nevertheless there is a
contradiction to what w>p? w1 said that 7331 72 2727 95 712 "wOK °X from what nww 27 said
o°%°°P 12T 7INn PR X 7702, Seemingly the X3 should have contradicted "1 from
what w"1 said concerning 712 *w9K °R that 2190 nR X7. However the X there clearly
contradicts 9" from the statement 2°»»p 1127, which w" said (there as well as here)

' This means, be a 722p% MW that as soon as the ¥2 gives you the w3, I will be divorced.
' This means that she did not appoint me as a 7192p% 79w but only a 71997% m*>w and the woman will be
divorced only when she herself receives the v.
16 The actual text in the X7»3 there reads A0 777 R2IRT RAOX'. See nwn nona.
' The fact the husband said ‘take it the way she said’, indicates that he suspects that she may have made
him a 773p% m%w. The fact that she is nw 3 immediately, tells us that the intent of the “¥1 is that if she
indeed made him a 722p% m°%w, then that is what the Yva wants — it is 7°7°7 X?1Y, for his benefit that she
becomes divorced immediately.
'8 However by mann even if he is stating that he is Yban the 7an», nevertheless we assume that it is beneficial
for him to receive it. This is also indicated by the fact that he used the expression X7 71703, which can be
interpreted ¥19n% which cannot nullify the 7ann.
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concerning 77Inn APX X7 7202,

mooIN quotes *"wA there:
— 0I5 9K NYT N2 YYAN NI 7299 ND)
The & 1) does not contradict 5" from the statement of " that 772 SWON N

is meaningless. This seemingly is in contradiction to 9"3 who says it is not
meaningless but rather if he said 772 WX °X it becomes 7p27. The reason the X713 does not
feel that it is a contradiction is —

— PHLYOM NINNA YIPY U NN 557
For when did %' say that by 72 *wsX °X it is 7977, only when it was a gift
of movable items, not real estate -

— DYDY 1PN PYY SWAN SN 11 7YY INNT 119947

For since it came into the recipient’s possession; that is the method

whereby 12u%vn are gifted, therefore the term "wsR °X is an expression of
27577 and the recipient makes the gift of 7v5un, which he acquired, '*apor.

— NP NINNND RNNY NN 2IONX 9MIN XINX NTYN NN 92PN XY Nt HaN

However, by the case of nww 17 it was a gift of ypIp, it was never in the

possession of the recipient, he merely received a finn 0w. Therefore when

he said 712 "woX °X he did not intend to be 9°p22 the field; rather he says I

do not wish that this gift be valid. He is declining the 7in» qvw which was given
to him. This proclamation has no validity. He cannot nullify a 7in»n “vw that he accepted
by saying 72 "WwaR X, since 712 *WHX X is in the future tense. Therefore there is no
contradiction between the opinion of "9 concerning 712 *W5K K by P2v%vn (that it is p5:7)
and the opinion of ¥'"9 concerning 772 *wdX °X by ¥Pp (that 2193 MK K?). They both agree
that it is in the future tense.

"1 explains what is the contradiction between "9 and w".

— YNYUN 9A¥YUHT 0259 19937 NINN NN NN NDVA NPT 7799 NOYDN NIN
Rather the contradiction between "1 and w"3 is from the end of s'w"
statement, that he taught if the recipient said X7 7°w2 or 7in» 7K his
declaration is accepted; meaning (assumedly) that the gift reverts back to
the giver. The reason it reverts back to the giver is because the phrase 1702
21 X771 is to be understood in the past tense; meaning -

— 7 OTY NNND )27 HYA ARTIN NINN DY NHAYP ROV NN

"% See x"2wA that by P2uoun we cannot say that *woX *X means that he is refusing the gift, for then he should
merely return the item. This obviously cannot apply to a field. See ‘Thinking it over # 4.
7
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That the recipient admits that he never accepted the 7inn 0w (and its
implied field) as a gift, and the admission of a litigant is as valid as the
testimony of a hundred witnesses. The x 3 there in N0 continues:

— 11999 N997 19927 2INNRT RPN NN 19199 1991 039D 19927 IND INN
Does not the term 2% 927 mean that the gift reverts to the original
owner; we surmise from the 7 of ¥'"2 that wherever his statement (of

dissatisfaction with the gift) is valid, the gift reverts to the owner; why then
does 9" say that by 72 *woKR X it becomes po7?! It should also revert to the original
owner even by 2’phudun.

— 1999 NN RDY D999 19927 XY YN
And the X713 there answers: No, the meaning of 2%2%p 19927 is that the 71nn

becomes P97 as 7" maintains®'. It does not revert to the owner. There is no
contradiction. This is the explanation of the ¥>210 in NMN>73 according to >"wA.

mdoIN continues quoting *"wA in MND, where "W anticipates a question on his
interpretation:

— 9P9N NN NOT 929V 1190 WIPY WY NINNT INIIND 281 MNT TN NI

And he could just as well have resolved this apparent contradiction

between "1 (who said 772 *w9R °X is o) and w" (who seemingly said that

7% 7777 807 7702) by distinguishing between them that by the case of %'

since he already acquired the gift; it was physically in his possession
therefore it can become 9p2:7 since the recipient already acquired full ownership -

— 1994 "N YN Na N XYY NTINT NYY 297 NyNHNa Yan

However by the case of @' when he said X°77 1902; meaning that he

admits that he never willingly acquired the gift then it belongs to the

original owner and it does not become 577 -

— MINN NN NY XY ONY NI 1Y YDAPNT RNYINR YIIN 291 259

For when a person grants a gift it is with the express intent that it be

accepted by the intended recipient and if the intended recipient is not

* We cannot answer that one may not compare 1"2u%u» and ¥p1p, as we said concerning the contradiction
between the two 72 *woK °X. There 172 *WOHX X was 0122 MK K7 because it is ¥p7p and he is not being 1°pon
the ¥ypp. Here by ®°77 7902 however it is 12 1127 (even though it is ¥p7p), why should 72 *woR X be
different.

21 See ywir "1 who explains that the reason 2P 1127 X177 202 and it is P57 is not because X177 P02 is a
7ny M. Rather it is 7po7 since the original owner by his act of gifting removed himself from having any
interest in the gift. The intended recipient, by saying X7 P02 which is a 12y N9, claims that he never
accepted the gift, therefore it is 7297, See (717&7) X"wAnn. See ‘Thinking it over’ # 3.
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accepting the gift there is no gift at all; it is as if it was never gifted and remains in
the possession of the original owner?’. This distinction would have been sufficient to
resolve the contradiction and it was not necessary to change the meaning of 2°»»p 1127
from 77%% 7777 to becoming P51

>"wA continues and brings support that this distinction is valid:
— RPINN NOYVIPN 0NN 2WN 91T
For this is what the X answers there on a different question; that a

person grants a gift with the intent that the recipient keep it. Otherwise it is not a gift and
reverts back to the original owner.

— 991 INDA P9Y NWN RNHVYN 1N

However, for now this answer is valid regardless. We can accept the answer
that 2°»»p 1°127 means that it is po77.

Mmoo anticipates a difficulty on >"w7°0 based on the X°310 in mn>>:
= 991250 MPIDN 219 1 NTY DY SY PPN D921 127 993NT 99INN 7599 51 N2

And afterwards the X3 asks a question on 7"1 who says that 72 "wdR *R
makes the object 77577 from a case where one said to his friend I have no

claims on this field and my hands are removed from it; meaning I have no
interest in the field; the ruling is —

— 090 9IN NY
It is a meaningless statement; it is not considered as an admission of any sorts that
he relinquished this field. We see that the statements of 72 °% X 7"17 or 7327 MpP?ON >7°
do not make the property 7257 why should 72 *woX °X make it 9571. This is the question
on "1. However according to *"w it is not understood. *"w9 maintained that we cannot
compare 7°?070n where it is in his physical possession to ¥p1p. Here we see that the X713
compares the two and points out the contradiction between them.

moon responds: There -
— D092 Y9915 P9999X 15Y NINY NTWAT PYVYONRN NTUN Y TP
It is a proper contradiction even though it is from a field to }>woun, for
there we are discussing a field which originally belonged to him; as >''w9
explained there, that the case in question was where—
— MY GMY RINY 193ND 9NN

** See ‘Thinking it over # 4.
It was not a field that he is receiving now as a gift, but rather a field that he is presently the owner
9
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The one who said to his friend 7 77w 5y °% PX 227 77, was a partner
with him in the field. The speaker was the (partial) owner of the field, therefore -

— DYV 297 N>NN2 10 N19» P NINNN XN NIV INYT MY v NY9
It is not fitting to say that his intent when saying 121 2°727 17 was that

the gift should not be effective like we say in the case of @''9, where he is
now first receiving the land as a gift. There it makes sense to say that 712 >wdX X means
that he does not want the 771n» to be effective. In the case of 121 2°727 17, however, it was
his field all along therefore 131 2°7271 "7 cannot imply that he does not want the gift, for
there is no gift at all.

mooIN continues to explain the question on WpH w:
— 19251 HPYION 15 19 BN PPYVYVNA 1PN 21 SWON N WYY IN)
And if the phrase "wsX X' makes the Pbuwn, °po7 it should follow that
the phrase "7 np®eR 97 -
— 9NN 12392 991D NNIY 991D TWAN INY 9PN ) MM 1YY NTYa
If it was his field it should also be 9p27, for it is impossible to say that he
had any other intention, when he said "1 027 77 or W»°7 PO °7°, and we

should not say '0175 2nR &%' as the Xn»12 actually says This is the question the X723 asks
that according to 5" -

1290 MR KD RPRY
So why does the Xn*92 say that his statement of "1 2727 17 °% X is
meaningless!**

SUMMARY

mooIn offers three solution to resolve the contradicting NIXDI°) here and in
MnN®I5 noon concerning the X717 of nww 27.

A. According to the "0737 0>190' both texts read as follows:

"PRMR 12T TINA PR RO P02 72 OWOK OR 2193 MR X2 Hv2n ndvian 1w mang'. In
mn™> we assumed that 7P»»™p 1127 means 2% 7770 therefore this
contradicts 9" who maintains that ;72 *w9X >X makes it 75;71. This is resolved
by stating that 12> 127 means that it is 7p57. However this is only in
regards to 172 *WoK °X, however concerning 7an» 71X X7 7703, there it cannot
mean 1p97; rather it means 777% 77771,

** The xm3 there answers That the phrases np210n *7° 13 21271 17 does not mean that he is relinquishing his
ownership of the field but rather he is relinquishing his arguments or claims to the field, as opposed to X
72 "waR, where it he clearly states he does not want the field itself, w"»v.
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In v°) we assume this conclusion of the X773 in nMn12. Therefore we have a
contradiction from the Xn>92 which states that by X7 02 the vx is 02
meaning that it is a 7ny N2 however by minn by 777M 21 1127 X7 7902
71% because it is a 72y W5, There is no contradiction between *WoR X of
the Xn»92 which is a 7ny P> and *WoX X by ninn, because we already
assume what was said in M0 that P»»P 1727 concerning *WaXR X means
that it 1s po17.

B. "7 nuw that we are 0712 in both places as we have it there in N1n°73:

'@ AR K 710N AR RO 902 PR 12T 72 OWOR OX Y0200 1YY 1T mana'.
The contradiction in MN*1> between 2" who maintains 72 WoOR X is P07
and nWW 27 who maintains 2P 1°127 is based on the assumption that 1727
1P means 7712 7177 and not Tpon (as explained in the °0737 0°90). The
X713 subsequently changes that P»°°p 1727 means P97 17 like 2"

In 7073 the contradiction is from the Xn>>12 that indicates X377 Pvais a Wb
7NV, to NWW 27 who states that 2190 X X2 X7 7702, If X°77 7902 is a 7Ry s
it should become 2p57. (72 11T *1w°% means what is beneficial for him
[receiving the gift], not what is effective [7ann7 710°2].)

C. "wn nvw that we are 073 in both places as we have it here in 70

"PRMP 1927 70D AR X7 7702 2190 K KD 72 OWOR X 91200 1hvan 17 mng'.
The contradiction in v is from X177 %v2 in the X012 which is a 72y WY to
X1 11702 by 730n which is a 72y PwS.

The contradiction in Mn™3 is between 2" who maintains that 17 772 SW9R °X
9791, and w"1 who maintains 79717 797 PP 1127 800 0902, According to
%"1 by %o 902 it should also be 2po1. There is no contradiction between the
72 °WHR X of NWW 27 where we say 2172 nR X2 and 2"1 who says that it is
qpom, because 7" is discussing 1"7vhvn and W' is discussing ¥pIp.

THINKING IT OVER

1. The term 2°2>p 1727 can be understood to mean that it reverts back to the
owner, or that it becomes 7p57. Why did noomn choose here” the
interpretation that 2°»°°p 1°127 means that it is p57?

3 See footnote # 9. See X"wAN.
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2. How does m»oIn compare the case of 11212 7in» 1017 and a third party
said that they are not minn to the case where the recipient himself says that it
is not a mnn? *° In the former, it is obviously a meaningless statement since
the speaker has no ability to accept or reject the 71n»n; whereas in the latter
the recipient can reject the 71nn?

3. If Pn™p 1127 X7 7202 means that it is 9p97,%’ what is the contradiction in
our X3 from the Xn*»92 to MWW 27 concerning X7 79v2? Seemingly both
agree that it is a 7ny PwH!>

4. Why is the question on "1 (who maintains that “po7 *177 72 *waK °X) from
Do 1127 X°7 1702 more valid than the question from K X2 72 SWoK K
m>5? It would seem that the distinction which >"w1 makes® between the
cases of X°77 7902 and 772 *WoK °R (in *X1707 °¥n 117 7"M) is at least as valid as
the distinction between 7hvotn and ’vpp  (especially since "wn
incorporates in both distinctions the idea that in the case of "1 he already
acquired the gift).

% See footnote # 10.
7 See footnote # 21.
¥ See (1) X"w.
¥ See footnote # 22.
30 See footnote # 19.
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